
MJ-827 

M.Com. 
lst Semester Examination, July-Dec., 2021 

Compulsory 
Paper II 

Advanced Accounting 

Time: Three Hours] [Maximum Marks : 80 
[Minimum Pass Marks : 16 

Note Answer all questions. All questions carry equal 
marks. 

FI/ Unit-1 

1. fAfefam fea feuforai ferfaq 

(c)ifat 
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(2) 
(3) 

Write short notes on the following: 

(a) Minimum subscription 

(6) Subscribed capital 

(c) Reserve capital 

(d) Participating 
Preference Share 

A Ltd. issued for public subscription 20000 

Equity Shares of 7 10 each at a premium of 

72 per share. Payable as under 
(e) Redemption of debentures by conversion 

FYT/OR 

A fao à7 10 aI 20000 3ii 72 yfa On application F 2 per share; on allotment 75 

per share (including premium); on first call 

T2 per share; on second call73 per share. 

Applications were received for 30000 shares, 

allotment were made pro-rata to the applicant 

for 24000 shares, the remaining applications 

were rejected and their money was returned. 

Money over-paid on application was utilized 

towards sums due on allotment. 

37T7-77 7 72 yfa sin; TTeA 75 

30000 ii fY TTA-T YT 

24000 3izm MAEi HTTUfTT 7 A, to whom 800 shares were allotted failed 

to pay the allotment and calls money and B, 

to whom 1000 shares were allotted failed to 

pay the two calls. All the shares were 

subsequently forfeited after the second call 

was made. All the forfeited shares were sold 

A, faH fs800 3i 319fea fos à, to X as fully paid up at 7 8 per share. Show 

the Journal Entries required to record the

above transactions in the books of A Ltd. 

T f61B, fT 1000 si 3Hfea fo 

90_JDB_*_(20) 

90 JDB_*_(20) 
(Turn Over) 

(Continued) 



(4) (5) 

T/Unit-1lI fash4 79,83,947; fHtut44 7 3,59,000; 
PIT T 26,814; HTHI 7 T 31,078; 

2. Twi-ra72,00,000; a 15,000; 

75-iR5,000; YRfys F 7 1,72,058; 

TH 1,57,380; fafem (frdn) 

2,88,950; TaE dT 67,240; FTT6Í 

(6) hT 1,800; T a1F8,544; R*5 

Sifesvz 37,500; 3f TYTI 
15,000; T-EiA faqry-y7 1 , 
2013 htsz Y 7 16,8481 State the items that are included in the 

following major heads in the Balance Sheet 

of company: 31 HT, 2014 1 HIT 6 HIE zi safu 

(a) Shareholder's Fund 

(6) Current Liabilities 

(c) Current Assets () 31 HT, 2014 1 Y H 

37YT/OR 
2,48,680 7I 

31 HT, 2014 uTT À ffds (i) F 60,000 gTH; 7 6,500 AG I HRTA 

60000 4AT 3T Tr 7 10 76,00,000; 
IHT 7 2,50,000; fa1 qra 1 AHN 
( 34Tfa THT)) 7 6,526; aTUfis R 
36,858; 7 1,00,000; 54 7 5,00,903; (Turn Over) 
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(7) (6) 

The 
undermentioned 

balance appeared in the 

books of Pioneer Company Limited as on 31st 

(ii) Privide 7 60,000 for depreciation; 7 6.500 

for Manager's Commission and 7 1,500 for 

the contribution to the Provident Fund. 
March, 2014 

(ii) Interest accrued on investments amounted 
Authorised and Issued Share Capital 

to 2,750. 

60000 Equity Shares of F 10 each 7 6,00,000; 
(iv) A claim 2,500 for workmen's 

General Reserve 2,50,000; Unclaimed 

Dividends 6,526; Trade Creditors 36,858; 

Buildings 1,00,000; PurchasesF 5,00,903; 

Sales 79,83,947; Manufacturing Expenses 

compensation is being disputed by the 

company. 

FHI/ Unit-III 

7 3,59,000; Establishment Expenses F 26,814; 3. 31 T, 2014 x fao fag f-ifeoa 
General Expenses 31,078; Machinery 

72,00,000; Motor Vehicles 15,000; 
Furniture 5,000; Opening Stock F 1,72,058; 

Book Debts1,57,380; Investments 

7 2,88,950; Cash Balance 7 67,240; Director's s7TeT : 

Fees 71,800; Interest received 8,544; Staff 

Provident Fund 7 37,500; Interim Dividends 

15,000; Statement of Profit & Loss (Cr. 
T710aM 8% Balance) as on Ist October, 2013 T 16,848. 

80,000 

From the following information prepare the 
company's Balance Sheet as on 31st March, 
2014 and Statement of Profit and Loss for 
the half year ended on that date : 

r5710 ad HYI 3n 2,00,000 

aTN-BifA faari (3faz aa)(1,11,300 
) The Stock on 31st March, 2014 were 90,700(20,600) 

valued at 2,48,680. 
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(9 
(8) 

() TaterkT 377 1 TE? 3.75 

f fagd 7 1.75 ufafHfta 

40,000 T10% Taffiuesr aia 
10 aA 7% BUV 

54,900 

3,54,300 

93,000 

fearaATdT f¢am * f feafa-faar 

1,62,500 

93,900 
fagi T 

4,900 
The following is the Balance Sheet of X Ltd. 

as on 31st March, 2014 3,54,300 

Particulars 

I. Equity and Liabilities: 

Shareholders funds: 
Share Capital 
Issued and subscribed capital ) 7 10 A Y 7% UTY 75 

TC 10% TYA , VT T 7 2.5 M 
8% Preference shares of 

10% TalfirN 3IN 3t vs 747 2.5 710 each 80,000 
(Turn Over) 90 JDB_X_(20) 
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(10) (11) 

Particulars ( Each 7 10, 7% Debenture be exchanged 
Equity shares of 7 10 each 2,00,000 for one, 75, 10% Deb., on New Pref. 

Shares of 7 2.50 each and one new Reserve and Surplus 
Equity Shares of 7 2.50 each. 

Statement of Profit& Loss 

(1,11,300) Dr. Balance (ii) The Preference Shares are to be reduced 

Add: General Reserve 90,700 (20,600) to 73.75 to which 1.75 will be 

Non-current liabilities 
represented by New Equity Shares and 

72 by New 10% Pref. Shares. 

7% Debenture of "10 each 40,000 

Current liabilities: 
(ii) Equity shares are to be reduced to? 2.50 

each. 
Trade payable 54,900 

3,54,300 (iv) Both Pref. Shares and Equity Shares are 

to be consolidated into shares of 7 10 

IL. Assets: each. 

Non-current Assets: 
The balance of Capital Reduction Account is 

to be applied for writing-off the losses and Fixed Assets 93,000 

Current Assets: balance if any is to be used in writing down 

Inventories 1,62,500 the amount of Fixed Assets and Stock 

Trade receivables 
proportionately. The Tribunal has passed the 

93,900 
order to show in Balance Sheet the word 

Cash & Cash equivalents 4,900 And reduced'. 

3,54,300 Pass the Journal entries and prepare the 

The following scheme of reconstruction is 

approved by Tribunal and is implemented by 
the Company 

revised Balance Sheet. 

7YT/OR 
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(12) 
(13) 

faary H faftzz s fafiues g4 f and As-14 fgT 
() () 

Narrate the objects of amalgamation of 

companies. Describe the main features of AS- 

14 accounting for amalgamation. 

8,000 1,200 
/Unit-Iv 

s fo1500 si 1,500 

T 31.3.2014 6,100 2,400 

faa H fofuza s faft~e 
) 1,300 1,700 

100 

17,000 5,300 

i Ti:1 aT uca 3i 10,000 2,000 
(a) fH arta H fto À s fo 

1,000 600 

TY-EI faqry-Af 4,000 1,200 

H fto 7H 7 fTA 37 À7 200 
2,000 1,200 

27 fa 
300 

(c) S fao PT qufaai i 7 200 
17,000 5,300 
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(14) 

(15) 

Particulars |H Ltd.| S Ltd. 
() ) 

I. Assets 

From the Balance Sheet and information given 

below, prepare a Consolidated Balance Sheet: Non-current assets: 
Fixed assets 8,000 1,200 

Balance Sheet (as at 31.3.2014) 1500 shares in 

S Ltd. at cost 1,500 H Ltd. S Ltd. 

(F)() 
Particulars 

Current assets: 
Inventories 6,100 2,400 

L Equity & Liabilites: Trade receivables

Shareholders' funds Debtors 1,300 1,700 

Share capital: Bills receivable 100 

17,0005,300 
Shares of T 1 each 

(a) All the profits of S Ltd. have been earned 

since the shares were acquired by H Ltd. 

but there wa: already the Reserve of 

fully paid 10,000 2,000 

Reserve and surplus: 

Reserve 1,000 600 7 600 at the date. 

(6) The Bills accepted by S Ltd. are all in 

favour of H Ltd., who discounted 7 200 
Statement of 

P&L-Surplus 4,000 1,200 

Current liabilities: of them. 

(c) Sundry Assets of S Ltd. are undervalued 

by 7 200. 
Trade payables 

(d) The inventories of H Ltd. includes 500 

bought from S Ltd. at a profit to the later 

of 25% on cost. 

Creditors 2,000 1,200 

Bills Payable 300 

17,000| 5,300 
37YT/OR 
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(16) (17) 

x fao Y f9o 5 75% iM 7 1,40,000 
31 4Td, 2019 f 4 Y o 
T-I faaru-y 7 10,000 1 sfaz 
u TIY fo ad 2017-18, 2018-19 
2019-20 f a TYT T fm 

faarm 31 4T, 2020 faTTHTR 

x x fo Y fo 

()(7) 
faqr 

Following are the details of Liabilities and 
10 f 3T 2,00,000 1,60,000 Assets of X Ltd. and Y Ltd. as on 31st 

80,000 40,000 
March, 2020 

Particulars X Ltd. Y Ltd. 

() )_ x fo F 16,000 

16,000 12,000 Liabilities 

Share Capital 
Shares of 10 

Statement of Profit& Loss 80,000 40,000 

Loan from X Ltd. 

2,96,000 2,28,000 2,00,000 1,60,000 

16,000 
60,000 56,000 16,000 12,000 

2,96,000 2,28,000 
Bills Payable 

10,000 4,000 

50,000 1,60,000 
Assets: 

60,000 
10,000 
50,000 1,60,000 

16,000 
1,40,000 

20,000 8,000 

2,96,000 2,28,000 

Machinery 
56,000 

Y fao 16,000 
4,000 

Furniture 

Y fo sin 1,40,000 
Debtors 
Loan to Y Ltd. 

20,000 8,000 Shares in Y Ltd. 

Bills Receivable 
2,96,000 2,28,000 
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(18) (19) 

X Ltd. purchased 75% shares of Y Ltd. for 
10,000, 7 10 a yaffuN siT 

71,40,000 on 31st March, 2019 when 

statement of the Profit& Loss of Y Ltd 

showed a debit balance of 10,000. Y Lid. 

has not paid any dividend for 2017-18, 2018. 

19 and 2019-20. Prepare consolidated Balance 

Sheet showing cost of control and minority 

shareholders interest. 

T f I8,000 Taffuesn aizYTfTa 

F61/Unit-V 

. a847H5 feufurqi fafay 

Write explanatory notes on: 

a)Distribution of balance by the Liquidator 

(b) Deficiency Account 

(c) Preferential creditors at the liquidation of 
company. 

A Limited company went into voluntary 

liquidation with liabilities amounting to 

30,000 and assets eventually realized 

71,78,000. The capital of the company 

37T/ORR 

A ff4es ifs% HHTYA 
consisted of 7 10000 Preference Shares of 

90 JDB_*_(20) 90_JDB_*_(20) 
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(20) 

T10 each, of which F 7 per share was called 

and paid-up. The holders of 8000 Preference 

Shares had, however, paid-up the full F 10 in 

advance of calls. In addition there were also 

10000 Equity Shares of 7 10 each, on which 

9 per share had been called. Holders of 

2000 Equity Shares had however, paid-up 78 
per share. Holders of 4000 Equity Shares had 

paid up the full 10 in advance of calls. 

Remaining shareholders have paid 9 per
share as called up. 
Assuming that Preference Shares have no 
prior right as to capital, prepare Liquidator's 
Final Statement of Account, how you would 
divide the available balance among the 
shareholders assuming that the costs of 

winding-up amount to 7 2,000 and that the 
calls in arrears are duly collected. 

90 JDB__(20) 220 
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